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UNIT-I
a A voltage source of internal resistance Rs = 900Q drives a CC amplifier using load
resistance R =2000Q. The CE h parameter are hg = 60, hje = 1.2K, hee = 25u A/V and hye

=2x10™ Compute A, R;, A, and R, using approximate analysis 8M
b Compare the transistor amplifier parameters for CE, CB and CC configurations. 4AM
OR
a Derive input impedance, output impedance and voltage gain of JFET Common Source
amplifier with voltage divider bias for bypassed Rs. 6M
b For the circuit shown in Fig. determine input impedance, voltage gain, output impedance
Zpand Zy’. Assume for FET gy = 2mA/V, rg = 10kQ. 6M
+2v

UNIT-11
Derive the expression for CE Short circuit current gain with the help of necessary circuit
diagrams and approximations. 12M
OR
Derive the expression for Current gain with RL and explain the variation of frequency
response with RL. 12M
UNIT-I1I
Describe different methods used for coupling multistage amplifiers with their frequency
response. 12M
OR
a Draw the block diagram of n-stage cascaded amplifier and analyze its various parameters. 10M
b List the classification of amplifiers. 2M

a A voltage series negative feedback amplifier has a voltage gain without feedback of
A =500, input resistance R; = 3kQ, output resistance Ry = 20kQ and feedback ratio = 0.01.
Calculate the voltage gain Ay, input resistance Rj, and output resistance Ros of the
amplifier with feedback. 8M
b Classify the different types of oscillators. 4M
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OR
a Determine the input and output resistances of Current Series feedback amplifier. 6M
b Explain Feedback topologies. 6M

9 a Discuss Double Tuned Amplifier with neat diagram and derive the expression for its

bandwidth. 6M
b With neat diagram explain Series fed, Directly coupled Class A Power Amplifier and derive
its maximum efficiency. 6M
OR

10 A class B push pull amplifier supplies power to a resistive load of 12Q. The output transformer
has a turns ratio of 3:1 and efficiency of 78.5%. Obtain
(i) Maximum power output,
(if) Maximum power dissipation in each transistor and
(ilf)Maximum base and collector current
For each transistor. Assume hfe = 25 and VCC= 20V. 12M

**k* END *k*x
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